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- Rooihuiskraal North (7450 R)

Location Gauteng, Centurion
https://lwww.freeadsz.co.za/x-212399-z

This immaculate modern two-bedroom apartment is located on the second-floor of a newly-built complex
which includes a private balcony and entertainment area with a view that oversees the entire
Rooihuiskraal North area.

This modern apartment provides one main-en-suite with bedrooms large enough to fit large furniture.
Other features include an open-area kitchen, dining and lounge area, the latter of which leads through a
sliding door to the spacious balcony and entertainment area. Access to the complex is controlled by 24/7
security, bio-metric access system, CCTV and high speed fibre optic internet with IP DSTV available at
this complex

This Scarlet Park apartment complex is centrally located within reach of a variety of amenities, enabling
easy access to schools, shopping malls (walking distance to mall@reds), national routes (access to old
joburg road and N1 highway) and services. The Gautrain bus stop is located just outside the complex.

Electricity is pre-paid while water is included. No Pets.
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